Lesson 21 Quiz

1) Partner opens 1a. What is your response?
a) a7 b) & 65 c) aA4 d 64

v AK1032 v 874 v AK5 v A73

¢ A542 + KJ1084 + QJ1062 + K9

% K63 ® AJ2 & A105 * AKQ1097
2 You open 1+ and hear partner respond 1a. What do you rebid?

a A9

v K103

¢ KJ972

&% KJ3

3) This time you open 1a: partner responds 2 ¢. What do you rebid?

a KQ1072
v AQ94
o7

% Q103

4) You open 1w. Partner bids 2. What is your rebid?

a QJ2

v AQJ962
+ K32

& 6

5) You open 1a. Partner bids 2. What is your rebid?

A AQ10962
v KQ985
o7

& A
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